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M. Com. (Sem. IV) (CBCS) (W.E.F.-2019) Examination

July — 2022

Statistics
(Adv. Business Statistics-6)
(Operation Research) (Group-5)
(New Course)

Time : 2% Hours] [Total Marks : 70
YAl :
(1) ol % usdl sAdUld 9.
2)  wusll euy oLl suldd ©.
1 () wodl : silcis dAldHHl qaeil. 10
()  uxendl : stulcts AWan-Al valewil. 10
vYql
1 2uduidl dd G3al 20
dqadll Ay z=5x +7y 1 1A eulddl WA 20l
HedH ol
Wl 1 x4+ <4,2x +y, <6,3x,+ 5y, <15, 5,3, 2 0.
2 U A ved g 7 ddl diReul dal dalelvil il 20
vAql
2 {lAAL YU A UL e G3d Riaadl dd G3dl 20
HedH oeldl © z=4x+3y
ulaeidl © 2x+y<10,3x+2y <16, x;y 20.
3 (@) AL uel uuAdl : 8
(1) Wd
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wYql
3 Al dogril w2 ssdlyel Ml v d HiReAl AMY Q) 15
ugli: [1-2 [1-3[1-4 [2-5]3-7]4-6 |5-7]5-8]6-9]7-10[8-10]9—10
wud: |12 | 9 |10 9 [16| 8 [0 7 [ 6 |14 |15 16
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4 () ¥HAd : EVPI, EOL.
(o) W4 : EVPI :
, s1d
gl | A™HIg-l
4 4 A
S, 0.2 40 -10 -100
S, 0.7 400 440 400
S, 0.1 650 720 760
AYql
4  yxodl : ABC [=awel, VED [dsawel.
ENGLISH VERSION
Instructions :
(1) All questions are compulsory.
(2) Marks are indicated on right side.
1 (A) Explain : Characteristics of O.R.
(B) Explain : Limitations of O.R.
OR
1 Solve in graphical method
Maximum the objective function z=5x,+7y, by using
following constraints :
X+ <4,2x+y,<6,3x,+ 5y, <15, x,y, 20.
2 What 1s LP ? State its assumptions and limitation.
OR
2  Using simplex method of maximum solve the
following L.P.P. :
Maximum : z=4x+3y
S.T.C. : 2x+y<10,3x+2y <16, x;y 20.
3 (A) Explain following terms :

(1) Game
(2) Saddle point

(B) Explain the principle of dominance in the solution
of game.
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3 A project consists of following activities. Prepare network 15

diagram. Find critical path and its duration :

Activity: |1-2 [1-3|1-4(2-5[3-7(4-6|5-7|5-8|6-9|7—-10|8-10(9-10
Duration: | 12 9 10 9 16 8 10 7 6 14 15 16
4 (A) Explain : EVPI, EOL. 8
(B) Find EVPI : 7
Act
Event | Prob.
4 4 4
S, 0.2 40 -10 -100
S, 0.7 [400 440 400
S 0.1 [650 720 760
OR
4 Explain : ABC Analysis, VED Analysis. 15
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